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1      Introduction
This is the report of offline discussion #802 as below:

· CBF: Offline discussion 802 (Intel, Yi): Discuss whether to send LS to RAN1/4 to check whether the answer for questions in the LTE LS is also applicable for NR.  Outcome of the offline discussion can be provided in R2-1902522.

Intention of this offline discussion is to collect company’s view on:

1 should we send LS to RAN1/4 to check the answer for questions in LTE LS is also applicable for NR?

2 if yes, what questions should we ask?

2      Discussion 

Question 1 should we send LS to RAN1/4 to check the answer for questions in LTE LS is also applicable for NR?

RAN1 and RAN4 have started their work for this WI. Normally, it takes times for them to evaluate the questions from us, and couples of meetings are needed before reply our questions. Based on contributions from companies in this meeting, for the solutions RACH less HO, simultaneous connectivity, RAN1 and RAN4 inputs are needed on the supported scenarios and required UE capabilities. 

Question 1: do companies agree to send LS to RAN1/4 to check the answer for questions in LTE LS is also applible for NR?
	Questions 1 

	Company
	Yes or no
	remarks

	Ericsson
	Yes
	

	Nokia
	Yes
	

	OPPO
	Yes 
	

	Huawei, Hisilicon
	Yes.
	

	Xiaomi
	Yes
	

	ZTE
	Yes
	

	Mediatek
	
	There is no harm to send the LS although the related discussion and WF are on-going in RAN4. The intention of the LS may be to initiate discussion in RAN1. 

I think the questions to RAN1 and RAN4 can be separately asked.

	vivo
	Yes
	


Proposal 1 send LS to RAN1/4 to check the answer for questions in LTE LS is also applicable for NR.
Question 1 should we send LS to RAN1/4 to check the answer for questions in LTE LS is also applicable for NR?

RAN1 and RAN4 have started their work for this WI. Normally, it takes times for them to evaluate the questions from us, and couples of meetings are needed before reply our questions. Based on contributions from companies in this meeting, for the solutions RACH less HO, simultaneous connectivity, RAN1 and RAN4 inputs are needed on the supported scenarios and required UE capabilities. 

Question 2: If companies agree to send LS, what questions we should ask?

Simultaneous transmission/reception:

In LTE_feMob WI, RAN2 sent an LS to RAN1/4 in R2-1815706 asking for the feasibility of simultaneous transmission/reception to/from two cells in different scenarios. And RAN1/4 replied in R1-1814411 (R2-1900020) and R4-1902030 (R2-1902601). 

Can we ask “for simultaneous connectivity: if the reply of the LS for LTE in R1-1814411 (R2-1900020) and R4-1902030 (R2-1902601) on is also applicable for NR.”

	Questions 2.1 can we ask “for simultaneous connectivity: if the reply of the LS for LTE in R1-1814411 (R2-1900020) and R4-1902030 (R2-1902601) is also applicable for NR.”

	Company
	Yes or no
	remarks

	Ericsson
	Yes
	

	Nokia
	Yes
	

	OPPO
	Yes 
	

	Huawei, Hisilicon
	Yes.
	We can ask: if there is any difference especially regarding to FR1 and FR2 in NR.

	Xiaomi
	Yes
	

	ZTE
	Yes
	Ok to ask specifically about FR1 and FR2

	Mediatek
	
	Currently RAN4 is doing what we are asking for, they are using the LTE LS as starting point and considering the NR-specific aspects e.g. beamforming, different numerologies, etc. They will respond if there is conclusion. 

	vivo
	Yes
	


Proposal 2 ask “for simultaneous connectivity: if the reply of the LS for LTE in R1-1814411 (R2-1900020) and R4-1902030 (R2-1902601) is also applicable for NR.

In addition, SCG change is considered in NR WI, the UE may need to support simultaneous transmission/reception to/from three cells. RAN1 and RAN4 feedback is needed on whether it is feasible to support simultaneous transmission/reception to/from three cells. It would be good to check RAN1/4 although we do not have consensus whether “simultaneous transmission/reception to/from three cells should be supported;”
Can we describe “SCG change is considered in NR WI, the UE may need to support  simultaneous transmission/reception to/from three cells. Note: RAN2 have no consensus on whether simultaneous transmission/reception to/from three cells should be supported;”

	Questions 2.2 can we describe in LS “ SCG change is considered in NR WI, the UE may need to support  simultaneous transmission/reception to/from three cells. Note: RAN2 have no consensus on whether simultaneous transmission/reception to/from three cells should be supported;”

	Company
	Yes or no
	remarks

	Ericsson
	No
	We agree with ZTE, we can rule out this option already now in RAN2 and not force RAN4 to spend time on this. 

	Nokia
	Yes
	Even if we down-prioritize SCG change for the time being in RAN2, we believe this possible use case should be also honestly mentioned in the LS.

	OPPO
	Yes
	RAN 2 can ask RAN1/4 whether it is feasible to support simultaneous transmission/reception to/from three cells, while whether to support simultaneous connectivity for SCG change should be FFS in RAN2.

	Huawei, HiSilicon
	No.
	Not needed. It is common understand in RAN2 that to achieve 0ms interruption mobility we are rely on dual simultaneous connectivity. Multi-connectivity (more than two) is not a requirement in this WI including any enhancement for SCG change under this WI.

	Xiaomi
	Yes
	We think the key point is to achieve 0ms interruption. During SCG change, anyway UE is able to use MCG to transmit and receive. 0ms has been achieved during SCG change. We should prioritize the handover case. However, this question looks fine to ask RAN4 about the possibility.

	ZTE
	No
	We agree with Ericsson ;-)

	Mediatek
	No
	Even from RAN2 aspect, we are not intended to support more than two protocol stacks simultaneously. The question is only valid if RAN2 agreed to support the triple connectivity. 

	vivo
	Yes
	We think this option could be studied further.


Proposal 3: no consensus on whether mention in LS SCG change is considered in NR WI, the UE may need to support  simultaneous transmission/reception to/from three cells. Note: RAN2 have no consensus on whether simultaneous transmission/reception to/from three cells should be supported;”. 

Based on work item scope, RACH Less HO can be studied in the WI. In LTE, we got the feedback in R4-166817 (R2-166016). 
Can we ask “for RACH less handover: if the reply of the LS for LTE in R4-166817 (R2-166016) is also applicable for NR.”

	Questions 2.2 can we ask “for RACH less handover: if the reply of the LS for LTE in R4-166817 (R2-166016) is also applicable for NR.”

	Company
	Yes or no
	remarks

	Ericsson
	Yes
	This information would be good but we consider this to be of lower priority compared to the question on simultaneous Rx/Tx.

	Nokia
	Yes
	It can be asked, but we also think simultaneous TRX clearly has higher priority.

	OPPO
	Yes 
	We should also ask the feasibility of RACH-less HO for FR2.

	Huawei, HiSilicon
	Yes, but 
	The answer from RAN4 (R4-166817) was several years ago regarding to the proposal of UE based TA estimation in LTE. It may not applicable to NR now if TA estimation is at the network side. We will need to ask RAN4 what is the minimum requirement on the TA estimation if it can be done by network implementation.

	Xiaomi
	Yes
	

	ZTE
	Yes
	

	Mediatek
	
	Currently RAN4 is doing what we are asking for. They are discussing in what kinds of scenarios the RACH-less handover in FR1 is feasible. 

	vivo
	Yes
	


Proposal 4: ask “for RACH less handover: if the reply of the LS for LTE in R4-166817 (R2-166016) is also applicable for NR.”
3      Conclusion
Proposal 1 send LS to RAN1/4 to check the answer for questions in LTE LS is also applicable for NR.
Proposal 2 ask “for simultaneous connectivity: if the reply of the LS for LTE in R1-1814411 (R2-1900020) and R4-1902030 (R2-1902601) is also applicable for NR.

Proposal 3: no consensus on whether mention in LS SCG change is considered in NR WI, the UE may need to support  simultaneous transmission/reception to/from three cells. Note: RAN2 have no consensus on whether simultaneous transmission/reception to/from three cells should be supported;”. 

Proposal 4: ask “for RACH less handover: if the reply of the LS for LTE in R4-166817 (R2-166016) is also applicable for NR.”
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